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Tin naks ce Bb ubio ro. M 1BoOft T0 TH10 € cheTaBeno ot
YacTH.

C. Ta mems an Aa paspbxmms u Th10 TO Mu 2

Or. He! Tosa mnro cwbis, nuTo ma ro manpapis, sa-
IO aKo rO Hanpapik, IX T€ oTpema: HO rrbjaye BamKamibI-
15 vactn ma 1510 TO TH, M ako Aame cx pasabiennsl, Kak-
BO T0 rabzawe m wactu 1h na A0BIKA Ta NpeAs Aa im Hape-
xnme. Karo croim tyka, To ribaams cmuko To mm 1hi1o: HO
BHAUIDL W BXHRAaUH T yactn na 1510 T0 Mu, r1aBa TA, TpYNH-2
panb b n no3b b, Huxoa ors thsm vactn me e camo mh-
10 yerosbuecko 1h10, KaKBoTO M HA AGBIKA TAa ejua cama
yacTh He e Ieia A0Bika. Pasbmpamb am wo TH Kassamb ?
riasa Ta Mn ueiopbuecko 1hi0 Im e ?

C. He.

O71. Ho e uacrs na uerosbuecko to 1hio, samo e oT®
Hero: M Apyrn1h vactn ma 1b10 TO Mm cwOpannm 3aeiuo,
ch 1h1o 6e3p riasa ta. Paka ta mu 7h1o mm e uerosbuecko ?

C. He: o e uacts ma uerosbuecko 1o 1hi10.

Or. Mogo6uo m apyrm tb uacrtn na Thio ro mu. Cera
MOKemb Aa ce obaammb Ha npitanne 1o mu. Buab nbin thia,
BUAB M vacTm: Koe mucammb mororbmo, uacrs a am, mam nb-
10 10 ? ['1aBa ra mu am e mororbma mmm 1h10 TO Mm 1bio ?

C. He: cmuko 10 1b10 e mororbmo ors riasa ta ?

Or. Yacrp ta 1una tasm A0BIKa € mororbma mwim A6HI-

Ka Ta wbia ?
Coi. Aosika Ta nbia e no roxbma.

Or. I ako za OB ce crpommia yama Ta TH, MHCIHIIb
AW, ye cAHA yacTh HeilHa meme Ja e nororbmMa 0Th CHUKa-
Ta nbia vama ?

C. He: mo chbka vacts meme Ja e momaika o1s Ib-
Ja Ta vama.

Or. ITozo6no ca m apyrn vb vhaa, cupbus, cbro nb-
ro 1h10 e noroibmo ork eana whrosa uacth: m cbka uacrth



